AIAPGET 2020 Ayurved

Topic:- AIAPGET_Ayurved

1) The Indriyartha sannikarsha (sense-object contact) that helps in the perception of Madhuratva (sweetness) is:-

"HeRea" Dl ATSINcPR Dol A 3q sfogarel Afsord 3: -

[Question ID = 129]
1. Sanyoga / it

[Option ID = 513]
2. Samavaya / J@arT
[Option ID = 514]
3. Sanyukta-samavaya / RJeb - JeTART

[Option ID = 515]
4. Sanyukta-samaveta-samavaya / IR[b - 0 - IJPIART

[Option ID = 516]
2) Which of the following is ‘AnupravishtaGuna’ of Vayu?

AR obT 3toJyfarse 3xuT fordol 3 A Dol AT 37
[Question ID = 130]

. Shabda / gss [Option ID = 517]

Sparsha / zugf [Option ID = 518]

. Roopa / u [Option ID = 519]

. Rasa / 3 [Option ID = 520]

-

A w N

3) Given below are two statements:-

Statement I: Karma is an independent cause of Sanyoga and Vibhaga. / @t siitor ve frsmer @1 foredigr wreor 3
Statement Il: Guna is an independent cause of Sanyoga and Vibhaga. / 1 siziter ve frsimer @t forigr @revr 3

In the light of the above statements, choose the most appropriate answer from the options given below:-

[Question ID = 131]
1. Both Statement | and Statement Il are correct

[Option ID = 521]
2. Both Statement | and Statement Il are incorrect

[Option ID = 522]
3. Statement | is correct but Statement Il is incorrect

[Option ID = 523]
4. Statement | is incorrect but Statement Il is correct

[Option ID = 524]
4) Who is the author of the commentary ‘Bruhat-Panjika on Sushruta-Samhita?

JYA Afdar U "gaq ubrsior” EiwT oI FRMAI Dlol 3?7

[Question ID = 132]
1. Dalhana / scaut

[Option ID = 525]
2. Gayadasa / sRIGRI

[Option ID = 526]
3. Gadadhara / G

[Option ID = 527]
4. Bhaskara / sz
[Option ID = 528]

5) According to Charak, which lakshan is found in VatalaPrakriti person due to Ruksha Guna?

TRP AAIGRIR, w8l VI & PRUI dldd Ymfd wiftp 3 Blel-A1 cigror Bierar 37



[Question ID = 133]
1. Bahupralapa / agyemu

[Option ID = 529]
2. Shighra Kshobha / ofief iter

[Option ID = 530]
3. Jagaruka / SIeRE®

[Option ID = 531]
4. Chapalagati / aucmwifer

[Option ID = 532]
6) Which is the site of ‘Secretin’ Hormone secretion?

Rafepdior Sisiler @1 aur Rt diar 37

[Question ID = 134]
1. G-cells of Antrum / sicar @ 'Sft' Je1 I

[Option ID = 533]
2. l-cells of Duodenum / s3ifomT & ‘3ms’ At A

[Option ID = 534]
3. L-cells of Intestine / $ecrdor @ "vet’ et A

[Option ID = 535]
4. S-cells of Duodenum / syaiif$omt @ v’ Aet A

[Option ID = 536]
7) Given below are two statements:-

Statement I: According to Sushruta, function of Purisha is “Kledavahana” / geamgr, gfiu @1 orf 'adease’ &
Statement Il: According to Sushruta, function of Mutra is “Bastipurana” / sgaraar, ag o1 orf "affagzr 3

In the light of the above statements, choose the most appropriate answer from the options given below:-

[Question ID = 135]
1. Both Statement | and Statement Il are correct

[Option ID = 537]
2. Both Statement | and Statement Il are incorrect

[Option ID = 538]
3. Statement | is correct but Statement Il is incorrect

[Option ID = 539]
4. Statement | is incorrect but Statement Il is correct

[Option ID = 540]
8) According to Charak, in which month of Garbhavakranti “ Mamsa Shonita upachaya” is observed?

TP D IGRIR, siadiiod @ b e A ARINIUIA U gidr 3?7

[Question ID = 136]
1. Third / R

[Option ID = 541]
2. Fourth / dta

[Option ID = 542]
3. Fifth / uiad

[Option ID = 543]
4. Sixth / &8

[Option ID = 544]

9) According to Sushruta, “Varna” and “Sparshagyana” are the functions of which Sira?

SIFIRE P D SRAR, "aul” 3 "Fuelsirer” fopa BRI @ orI 37

[Question ID = 137]
1. Vatavaha / araas

[Option ID = 545]



2. Pittavaha / fias

[Option ID = 546]
3. Kaphavaha / ®was

[Option ID = 547]
4. Raktavaha / ¥was

[Option ID = 548]

10) Given below are two statements:-

Statement I: According to Sushruta, Moolasthanas of Shukravahasrotasa are Stana and Vrishana. / goa @ sqar, emassias &

JeT¥elrel ¥<ol 3T guur 3
Statement II: According to Charak, Moolasthana of Medovaha Srotasa are Vrikka and Vapavahan. / @o & sgar, #cassias &

Herrearol gad AT qurasel &

In light of the above statements, choose the most appropriate answer from the options given below:-

[Question ID = 138]
1. Both Statement | and Statement Il are correct

[Option ID = 549]
2. Both Statement | and Statement Il are incorrect

[Option ID = 550]
3. Statement | is correct but Statement Il is incorrect

[Option ID = 551]
4. Statement | is incorrect but Statement Il is correct

[Option ID = 552]
11) “Carpel tunnel syndrome” is caused by compression of which nerve?

fpa1 'ard’ (Nerve) uz cara (compression) Usol @ BRUI ‘GIUd <ol Riegld alar 3?7

[Question ID = 139]
1. Ulnar / sicoR

[Option ID = 553]
2. Radial / 33rer

[Option ID = 554]
3. Median / af3smer

[Option ID = 555]
4. Musculocutaneous / #FIRCIGRICOBRI

[Option ID = 556]
12) Which of the following Dravya is the synonym of “Pachampacha”?

vl forgellts b1 goa o1 =i 37

[Question ID = 140]
1. Haridra / sf¥qr

[Option ID = 557]
2. Daruharidra / ssf¥q

[Option ID = 558]
3. Nimba / forwa

[Option ID = 559]
4. Katuki / @gdt
[Option ID = 560]

13) According to Charak, Consumption of Dadhi (Curd) in the night causes which of the following disease?

TRBIGRAR Al 3 i Aaet A Icucel B0l oD Bloril cafer 3?7

[Question ID = 142]
1. Pakshaghata / ugmara

[Option ID = 565]
2. Gridhrasi / spgRft



[Option ID = 566]
3. Kamala / @micn

[Option ID = 567]
4. Manyastambha / srcmzaser

[Option ID = 568]
14) As per Bhavaprakash, which of the following is the Abhava pratinidhi dravya of “Ativisha”?

SITAYDIYN D 3IMGRAR, 3feIfrd w1 arra Yferforfer gou fordoiled wlol-AT 3?7

[Question ID = 143]
1. Kutaja / @est

[Option ID = 569]
2. Mustaka / gRas

[Option ID = 570]
3. Dadima / eifsa

[Option ID = 571]
4. Chitraka / Rigeo

[Option ID = 572]
15) In reference to CharakoktaAgryaoushadha, which of the following Dravya has Vrishya and Sarvadoshahara Karma?

TRPRP YTl I Blot-A GRI BT B I&I ud Aders: 37

[Question ID = 144]
1. Vidari / fert

[Option ID = 573]
2. Vidarigandha / fagRlsretn

[Option ID = 574]
3. Erandamoola / eusser

[Option ID = 575]
4. Gokshura / sfigR

[Option ID = 576]
16) According to Charak, which is the appropriate Bhaishajya Kala for “Samana Vata Vikriti”?

TRPIGRIR, AHTeIAId fIpfir 3 SuTs SusamIe diorRi 37

[Question ID = 145]
1. Bhojanapurva / siistergd

[Option ID = 577]
2. Madhyabhojana / stemilstor

[Option ID = 578]
3. Pratahkala / gr:@ret

[Option ID = 579]
4. Samudga / W5

[Option ID = 580]
17) As per Sushruta, what is the Panchabhautika composition of Virechana Dravya?

HYATAR, el ge @1 Usifere el a=i 8?7

[Question ID = 146]
1. Vayu / arg

[Option ID = 581]
2. Vayu + Agni / ary + 3ifdot

[Option ID = 582]
3. Prithvi + Agni / gedt + aifSer

[Option ID = 583]
4. Prithvi + Jala / gedt + st

[Option ID = 584]



18) According to Charaka, the drug of choice for a patient suffering from Hikka, Shwasa, Kasa, Parshwashoola is-

Rawm1, @1, ar1 & arer urdge A ifsa Al o R aar situer 3-

[Question ID = 147]
1. Erandamoola / wvusagt

[Option ID = 585]
2. Ativisha / aiferfarr

[Option ID = 586]
3. Kakamachi / oraarcdt

[Option ID = 587]
4. Pushkaramoola / gemagct

[Option ID = 588]
19) As per Bhavaprakash, what is the weight of Shreshtha Haritaki Fruit?

HIAYDI D HRIR, Y0 FAADI Bl DI Tslol TR 37
[Question ID = 148]

1. Kola / @t [Option ID = 589]

2. Dwi masha / gt st [Option ID = 590]

3. Karsha / @ [Option ID = 591]

4. Dwi karsha / gt @t [Option ID = 592]

20) Which one of the following is a deliriant poison?

forgolitd @lol-AT Yemuds faw 3?7

[Question ID = 149]
1. Ahiphena / sifdwar

[Option ID = 593]
2. Kupilu / oy

[Option ID = 594]
3. Dhatura / e

[Option ID = 595]
4. Bhallataka / stectras

[Option ID = 596]
21) Which of the following statement is INCORRECT about postmortem changes?

IRUTR uf¥acer @ Jader A Diol-AT DeIol 3Icid a7

[Question ID = 150]
1. Rigor mortis starts first in the eyelids externally / srereu 3 iR ke 3ifdmcrd 3 YRFoI BT 3

[Option ID = 597]
2. Putrefaction is the late postmortem changes / gfersrder fetfda aRvirR uf¥acder 8

[Option ID = 598]
3. Postmortem staining becomes permanent by 03 hours after death / I @ 03 ave T FIR AHRSIE! FATS &l Sl &

[Option ID = 599]
4. Algor mortis is cooling of body after death / 3] u2ir 9812 @1 SUST Blall 3[coIR AfEAg 3

[Option ID = 600]
22) Chalky white teeth is the clinical feature of which of the following poisoning?

AID A9 2Ad God fordolltd fdbaa faurpdar o1 agror 27

[Question ID = 151]
1. Sulphuric acid / JcwIR® 3@t

[Option ID = 601]
2. Nitric acid / omsfeas swer

[Option ID = 602]
3. Carbolic acid / @rdtferd swer

[Option ID = 603]
4. Oxalic acid / siasifers s@er



[Option ID = 604]
23) According to Sushruta, Phenagam, Vidbheda and Gurujihwata are the features of which type of Visha?

HIYATRAR BolPH, fasig qeIl shiadr fobd YR & fay @1 agior 37

[Question ID = 152]
1. Kanda / wog

[Option ID = 605]
2. Dhatu / aig

[Option ID = 606]
3. Ksheera / gfiz

[Option ID = 607]
4. Phala / war

[Option ID = 608]

24) Rasa Vagbhata preferred placing finished products in which direction of Rasashala? / aameuz forfdfa sitaferil o saromen
@ fopa fSom 3 ot @ askrar a & ?

[Question ID = 153]

1. Vayavya Kona / arrer @ior
[Option ID = 609]

2. Adhasta Kona / srerzd @lur
[Option ID = 610]

3. Nairitya Kona / dbseer alor

[Option ID = 611]
4. Ishana Kona / $orot @ur

[Option ID = 612]
25) According to Rasa Ratna Samuchchya, what is the length of cloth required for the preparation of Gandhaka Druti?

RROI AR D 3IRR, I6eID gfel foraaivr @ fo1e T @1 a=—I1 YJHAIT Bt 3?7
[Question ID = 154]

Raja Hasta Pramana / st & ygmur [Option ID = 613]

Vitasti Pramana / faaf¥a ggmor [Option ID = 614]

Aratni Pramana / 3rfear ggmor [Option ID = 615]

Dwi Vitasti Pramana / fg-faaf¥a gemor [Option ID = 616]

A w N =

26) As per Sharangadhar, what is the ratio of drug and water for preparation of Tandulodaka?

IRFOIER D MGRIR avgdllce forarfor 3 siiaf?r ud Ster @I sigurd @RI aler 37

[Question ID = 155]
1. 1:2

[Option ID = 617]
2. 1:4

[Option ID = 618]
3.1:8

[Option ID = 619]
4. 1:16

[Option ID = 620]

27) According to Rasa ratna samuchchaya, which of the following Musha has Heat bearing capacity of ‘Two Yama’?
ROl AR D MRIR, fordolltd 5 JUI Bl ITUIAT A6l Dol bl ST Sl A 37

[Question ID = 156]
1. Yoga Musha / =eraur
[Option ID = 621]

2. Gara Musha / smsmr

[Option ID = 622]
3. Vara Musha / aaun

[Option ID = 623]
4. Mandooka Musha / svs@aur



[Option ID = 624]
28) According to Rasa Ratna Samuchchaya, What is the meaning of Mukha?

Rcol APTRI D RAR, F¥ DI 31ef o= 37

[Question ID = 157]
1. Mixing of 1/64t Parts of Cu in Hg / 1/64th a1 Cu @1 Hg 3i ot wen

[Option ID = 625]
2. Mixing of 1/64t Parts of Au in Hg / 1/64t smer Au @1 Hg 3 Brepr waon

[Option ID = 626]
3. Mixing of 1/64t% Parts of Auin Cu / 1/64t™ smer Au @1 Cu 3 figur den

[Option ID = 627]
4. Mixing of 1/64 Parts of Au in Ag / 1/64% a1 Au @ Ag 3 Brepr won

[Option ID = 628]
29) According to Sharangdhara samhita, which of following Dravya is an ingredients of Dashanga lepa?

IRFIIER B GRIR, [o6IIth PBlol-AT GRI "GINPICIU" BT HCdD 37

[Question ID = 158]
1. Jatamansi / Sieerift

[Option ID = 629]
2. Manjishtha / difSst

[Option ID = 630]
3. Mustaka / gRas

[Option ID = 631]
4. Parpataka / udes

[Option ID = 632]
30) Nishchandratva is the feature of which of the following Bhasma?

fortiogea crgtvr forgeiles fabaT sea 3 fircrar 3?7

[Question ID = 159]

1. Kasisa / @w2fir

[Option ID = 633]
2. Abhraka / 3@

[Option ID = 634]
3. Swarna / Fauf

[Option ID = 635]
4. Haritala / st

[Option ID = 636]
31) Pizer’ instrument is used for knowing which of the following?

"UISSIR" IUMVT BT YRIET fordolltd b2 Sirotol @ forg aler 3?

[Question ID = 161]
1. Disintegration of tablets / acic @i fSorsacisjerer

[Option ID = 641]
2. Friability of tablets / 2acic @1 prifaferct

[Option ID = 642]
3. Hardness of tablets / 2qclc @1 arsorRt

[Option ID = 643]
4. Coating of tablets / acic @1 ®ifder

[Option ID = 644]

32) According to Charaka, ‘Surasavavidhanam’ has been mentioned as one treatment modality for which of the following?
R AfSAr 3 "JrrIa faere” forget 3 A fbAD] v Rifdpear o WU 3 gdrR SR 8?7

[Question ID = 162]



1. Vata / am

[Option ID = 645]
2. Pitta /

[Option ID = 646]
3. Kapha / @w

[Option ID = 647]
4. Rakta / 3@

[Option ID = 648]
33) According to Charaka, ‘Shariramupachinoti’ has been mentioned as a result of which of the following?

TRP FRI fordol 3 A b D ubwmErRasu # "oRRyguimeilia” sorRm srr 87

[Question ID = 163]
1. Ushnamashniyat / wmEifrid

[Option ID = 649]
2. Snigdhamashniyat / RoeemosrRId

[Option ID = 650]

3. Matravadashniyat / aqracfrnd
[Option ID = 651]

4. Jirne ashniyat / Sfof aifésrrmd,

[Option ID = 652]

34) According to Charak. ‘Dirgha darshinam’ has been mentioned as a characteristic feature of which of the following
Satva?

WD GHRI forctifeoa d A o Aca & agor d "kt cidfor” aarm srm 3?7

[Question ID = 164]
1. Arsha / amf
[Option ID = 653]
2. Eindra / ¥oq
[Option ID = 654]
3. Yamya / am=x

[Option ID = 655]
4. Varuna / arsut

[Option ID = 656]
35) According to Charaka, which of the following is the correct option in context to Indriya Buddhi?

RD RIR slocagfs @ icsl A Dlot-A1 Rrpea e 3?7
[Question ID = 165]

. Kshanika / gmfier [Option ID = 657]

. Vyavasayatmika / wrazmrnfeaat [Option ID = 658]

. Nitya / foreem [Option ID = 659]

. Vikalpaja / fad@cust [Option ID = 660]

A W N -

36) According to Charaka, “Utpindatarunakshata” is the sign of which type of Unmada?

WD D MRIR- Sfeufisarsuneiar 51 YdR & I6HIG BI cI8Ivr 87

[Question ID = 166]

1. Vataja / arst

[Option ID = 661]
2. Pittaja / fuest

[Option ID = 662]
3. Kaphaja / @wst

[Option ID = 663]
4. Agantuja / smelegst
[Option ID = 664]

37) “Raktaika Lochana” is a sign of which Shvasa?

TOD cidol b *aR—T I <I8IvT 37



[Question ID = 167]
1. Tamaka / @@

[Option ID = 665]
2. Chhinna / f&cor

[Option ID = 666]
3. Maha / #@@

[Option ID = 667]
4. Urdhva / 3ed

[Option ID = 668]

38) A 45 year old male patient reports with complaints of severe pain in Vankshana, Basti, Medhra and frequent micturition
but less quantity of urine. The Single drug of choice from Charaka Agrya Samgraha will be:-

us 45 ad o1 ypy Wl dewr, axdl, g 3 dig st awn Jgsids Ig yaht uzeq Facu Fgar @ caemil A Afda 3 1 saven I @ 35y o D
3IGIAR Dlol-Hl Ad9Ies wwa situfer suged il?

[Question ID = 168]
1. Pushkarmula / gea3set

[Option ID = 669]
2. Amlavetasa / s@crda=n

[Option ID = 670]
3. Gokshura / siigz

[Option ID = 671]
4. Hinguniryasa / f8ssjforiiar

[Option ID = 672]
39) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Dwitiyah Kriyakalah - Annadwesha hridayotkledau / fxfrr: Rgmorer: - soougedcadet
Reason R: Kaphasya prakopa lingam / &&= goa fergei

In light of the above statements, choose the correct answer from the options given below:-

[Question ID = 169]
1. Both A and R are true and R is the correct explanation of A

[Option ID = 673]
2. Both A and R are true but R is NOT the correct explanation of A

[Option ID = 674]
3. Ais true but R is false

[Option ID = 675]
4. Ais false but R is true

[Option ID = 676]
40) Given below are two statements

Statement I: According to dictate of Atreya, Doshagni and Malagni are included in the types of Agni. / smyar seyerT sameIR, aiforl &
gor 3 & Qruier wd srenfder srafoifda 3

Statement Il: According to Dhanvantari, Grahani is Pittadhara Kala. / ecawafs sramgeiz, seoft & fracrrmar 3

In light of the above statements, choose the most appropriate answer from the options given below:-

[Question ID = 170]
1. Both Statement | and Statement Il are correct

[Option ID = 677]
2. Both Statement | and Statement Il are incorrect

[Option ID = 678]
3. Statement | is correct but Statement Il is incorrect

[Option ID = 679]
4. Statement | is incorrect but Statement Il is correct

[Option ID = 680]

41) Which of the following virus is the causative pathogen of Rabies?



foraoilct DIoIAT ARIRA IdIST BT BRD 57

[Question ID = 172]
1. Flavivirus - group B / werrdt arrat - 3pu ot

[Option ID = 685]
2. Toga virus - group B / cen arR - 3u &t

[Option ID = 686]
3. Lyssavirus - type 1 / ¢RI drRRAA - <isU |

[Option ID = 687]
4. Alphavirus - type 2 / 3rcwr driz3 - <y |

[Option ID = 688]
42) Arrange the Asanas of Suryanamaskara sequentially / sxf soror & smerwei @ o 3 Rt

A. Prarthanasana / yrefomeror

B. Parvatasana / udarmer

C. Ashwasanchalasana / srazicrenror
D. Padahastasana / ursrarmr

E. Hasta Utthanasana / s seemaimeror

Choose the correct answer from the options given below / fwsirs Rrasedi 3 3t w1t 3a= aari:-

[Question ID = 173]
1. B,D,C,E, A

[Option ID = 689]
2. AE,D,B,C

[Option ID = 690]
3. ALE,B,C,D

[Option ID = 691]
4. AJE,D,C, B

[Option ID = 692]
43) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Takra is indicated in Sheeta Kala, Agnimandya, Vatavyadhi, Aruchi and Srotorodha (Bhavaprakash) / aa; @ efawre,
if3ordtier, araenf?y, sl ud Farer A Hrdor v srr 3 (srray1en)

Reason R: Takra is having Ushna Virya, Dipana, Kashaya, Amla, Madhura Rasa (Bhavaprakash) / iifs aa swrdif, duet, @ur, swe,
ALY RRITD I 3

In light of the above statements, choose the most appropriate answer from the options given below:-

[Question ID = 174]
1. Both A and R are correct and R is the correct explanation of A

[Option ID = 693]
2. Both A and R are correct but R is NOT the correct explanation of A

[Option ID = 694]
3. Ais correct but R is not correct

[Option ID = 695]
4. Ais not correct but R is correct

[Option ID = 696]
44) In which of the following disease carrier stage is not seen?

DRR sraven Bsip o3 ofdl 3ar sirar 3?7

[Question ID = 175]
1. Measles / fcicat

[Option ID = 697]
2. Cholera / @fcrr



[Option ID = 698]
3. Diphtheria / fSwfser

[Option ID = 699]
4. Typhoid / chrors

[Option ID = 700]
45) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Pressing naval region towards spine for hundred times is Agnisarakriya / smf @ $ig &t 538 & auw 3t ar= gart o
fSorIrfpRn war Siar 3

Reason R: This Agnisara Kriya is done to increase Agni and Medas. / s sifSerire fagm aifder wa g afor 3q Rvar smar 3

In light of the above statements, choose the most appropriate answer from the options given below:-

[Question ID = 176]
1. Both A and R are correct and R is the correct explanation of A

[Option ID = 701]
2. Both A and R are correct but R is NOT the correct explanation of A

[Option ID = 702]
3. Aiis correct but R is not correct

[Option ID = 703]
4. Ais not correct but R is correct

[Option ID = 704]

46) Match List | with List Il

Match the following Bio-Medical waste disposal with colour coded bags.

forFoiled Sia RifdperbRI 3ruge Dl ORIAGIRIR Ioidd fafdieor 2911 DI Aetl A RBremsA

List 1 List II
A. Waste Sharps / 9€€ T I. Red/eTel
B. Discarded Medicine vials / [EEhTS8 I1. White / Tthg;
AT arae
C. Catheters / eI 11 Yellow / drer
D. Discarded linen / B¥rds G IV. Cardboard box with blue colour marking / #itel BT &
frensr & FEaE =g

Choose the correct answer from the options given below:-

[Question ID = 177]
1. A-lll; B-Il; C-1V; D-I
[Option ID = 705]

2. A-ll; B-1V; C-I; D-1ll
[Option ID = 706]

3. A-1; B-lll; C-II; D-IV
[Option ID = 707]

4. A-IV; B-l; C-llI; D-II
[Option ID = 708]

47) Which of the following drugs are used for Dhupana (fumigation) to purify air as per Acharya Sushruta? / gga samEr Rusirs
@lol A YUl el a1 argeiierel 3d YileT far siar 87?

A. Laksha, Haridra / eusn, sty

B. Ativisha, Haritaki / sfafiar, ssiadt

C. Musta, Kushtha / gz, ©o

D. Haridra, Ativisha, Haratala / sfg, siferfrn, sarer
E. Musta, Kushtha, Manahshila / gza1, @s, sren:foren



Choose the correct answer from the options given below. / forgsiit faapeul 3 31 138 3= ol

[Question ID = 178]
1. E&Donly

[Option ID = 709]
2. A&Donly

[Option ID = 710]
3. B&Eonly

[Option ID = 711]
4. A, B & Conly

[Option ID = 712]

48) According to Charak, arrange the following in ascending order of their severity in reference to Janapadodhwamsa / az=
AAIGRIR, Slelucied9l @ igsf # foraifeiRad oI IoId> ITRITR Teldloldl & A A TARA

A. Vikruta kala / fxoa o=
B. Vikruta Jala / frqa s
C. Vikruta Vata / faa am
D. Vikruta Desha / faya 2o

Choose the correct answer from the options given below / forilts faracul 3 2 A&t 3R gor

[Question ID = 179]
1. ACBD

[Option ID = 713]
2. BDAC

[Option ID = 714]
3. CADB

[Option ID = 715]
4. CBDA

[Option ID = 716]

49) According to Charak Samhita, external application of ‘Panchakola’ and ‘Kulattha’ over breasts is indicated for the
management of which of the following type of stanya dushti?

TRDALBAL GRAR, FcTall UR "Usadid 3R "@eled” @I 1@ v foafciiRaa vt asuagfte ol Rifdoean 3 fafdse 87

[Question ID = 180]

1. Vairasyata / dzrar

[Option ID = 717]
2. Phena Samghatata / ot iermeadr

[Option ID = 718]
3. Vaivarnyata / dquefar

[Option ID = 719]
4. Guruta / spar

[Option ID = 720]

50) According to Kashyapa Samhita, Vedanadhyaya, the clinical feature “Mukha Sweda” is found in which of the following
condition?

PIYIURITSAT AGIERRI GRIR "Hxrde' c1glvl forratfeiiRad fip21 cnfeEl frerar 37

[Question ID = 181]
1. Anaha / 3ol

[Option ID = 721]
2. Shoola / g1

[Option ID = 722]
3. Ashmari / sieast

[Option ID = 723]
4. Vibandha / fasa

[Option ID = 724]



51) Inspite of providing tactile stimulation, the newborn is still apneic or having ineffective ventilations as evidenced by
heart rate of less than 100 per minute; what should be the next recommended step for resuscitation?

SIodIURIoA PR fep2il orastia fO19] @l Eaersel FEHICI9IG Sol d arasic fA19] vuofies 3@ = 3RM déicioret of 8l ure (ge aifer 100/fifore A ik 33)
dl, 321 f319] B YIYrIPRicl & fre 3Prer ydifid wmea o slell daIfdu?

[Question ID = 182]
1. Bag and Mask ventilation / e1 @ #ir® dociciont

[Option ID = 725]
2. Endotracheal intubation / uesIgfepeIct socdTet

[Option ID = 726]
3. External cardiac massage / vaRicolc! BRISAD TS

[Option ID = 727]
4. Epinephrine administration / vticiwsler @1 yeiler
[Option ID = 728]

52) As per Kashyap Samhita, in reference to Danta Nisechana (Teeth insemination), match the following table:-

DIYAU AAIGRIR, Sofolddol ® e I A8t et B3t -

List | List I1
(Month) / (FATH) (Effect) / (F919)
A. 4" Month Nishikta Danta / 3% #17 @%@ & | 1. Dwiputa Danta / gfaqer &a
B. 5" Month Nishikta Danta / 955 # fAf8%d & | IL Ghuna Danta / §9T &
C. 6™ Month Nishikta Danta / ¥5& #TH f@f8&d &g | 111 Praharshina Danta / S&f80T &
D. 7" Month Nishikta Danta / H°H #rE ASFT & | IV. Aashu Kshayee Danta / 3T &

Choose the correct answer from the options given below

[Question ID = 183]
1. A-ll, B-lll, C-I, D-IV

[Option ID = 729]
2. A-ll, B-I, C-IlI, D-IV

[Option ID = 730]
3. A-1V, B-1, C-II, D-lI

[Option ID = 731]
4. A-lv, B-Ill, C-I1, D-1

[Option ID = 732]
53) As per Ashtangahridaya ‘Snigdha Shukla Mukhekshanah’ is the clinical feature of which of the following Vyadhi?

SrciPTECAIGRIR “Remergacigsivn: " oifeiRaa fsar cnfér @t cgror 37

[Question ID = 184]

1. Ulvaka / 3cas

[Option ID = 733]
2. Parigarbhika / uf¥sifsis

[Option ID = 734]
3. Balashosha / arcroia

[Option ID = 735]
4. Ksheeralasaka / gfiereria

[Option ID = 736]
54) Given below are two statements:-

Statement I: As per Kashyapa Samhita, 04 types of Charmadala has been described. / wouwifsar aaeer, 04 yor & afea 3 §

Statement Il: Mandala (skin Lesions) resembling ‘Dagdha Guda’ is the feature of Paittika Charmadala. / caar ur "gserrs " Sia
FAUSC BT Bloll Uferds adicer T agivr 3

Choose the most appropriate answer from the options given below. / forFoirs el 3 A A} Ia= gor



[Question ID = 186]
1. Both Statement | and Statement Il are correct

[Option ID = 741]
2. Both Statement | and Statement Il are incorrect

[Option ID = 742]
3. Statement | is correct but Statement Il is incorrect

[Option ID = 743]
4. Statement | is incorrect but Statement Il is correct

[Option ID = 744]

55) Match the factors to be avoided during Basti treatment and their Vyapada (results) as per Charak Samhita.
TRDAIAGRAR, SxAIDIA as Td dssiod cAIUIG I Al f3rcirel d2

List 1 List I1
(Factors) (Vyapada)
A Uchchairbhashyatibhashya / STIRATSIITIHTST | 1. Hridayendriyoparodha / gGafegaroRre
B. Rathakshobha / T&fIs I1. Badhirya / TfeRY
C. Vishamahitashana / fawanigare= III. Manyastambha / HedTHTFH
D. Vyavaya / edd1d IV. Kandu-Pama / Shug-9TT

Choose the correct answer from the options given below :

[Question ID = 187]
1. A-ll, B-1ll, C-1V, D-I

[Option ID = 745]
2. A-IV, B-Il, C-I, D-IlI

[Option ID = 746]
3. A-l, B-Il, C-IlI, D-IV

[Option ID = 747]
4. A-lll, B-1, C-1V, D-II

[Option ID = 748]
56) According to Charak, “Avasthika Chikitsa” is mentioned in context of which of the following disease?

TRPATGRIR, forotifpa fosar sf?r 3 "smaf¥ers Rifdscan” aars s 3?7
[Question ID = 188]

1. Rajayakshma / Imrigan [Option ID = 749]

2. Unmada / 3sarg [Option ID = 750]

3. Gulma / 3pca [Option ID = 751]

4. Urustambha / 3»zass [Option ID = 752]

57) According to Charak Samhita, Kalpasthana, 4th chapter, the total Yoga of Dhamargava is and out of which
are Kalka Yoga.

TRDARBAT DeurdTe aqd EARI 3 LEIPia & G =1 3, el A e APT 3

[Question ID = 189]
1. 60, 09

[Option ID = 753]
2. 60, 10

[Option ID = 754]
3. 18, 05

[Option ID = 755]
4. 18, 09

[Option ID = 756]

58) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R:-

Assertion A : Snehana, Basti, Virechana and Vamana should not be conducted in Urustambha. / wowwa, s, fRi¥der aen asrer sseassn
Ifer 3 oidl w2l aifdn

Reason R : Urustambha is Asadhya Vyadhi and no treatment is indicated for Asadhya Vyadhi. / 3%sd9s1 sremes =nfér 3 sramen
caIferRIl @ fore oI Rifdbcan oidl aars o1 8



Choose the correct answer from the options given below / forFsilts faraeul 3 21 3t 3R gor

[Question ID = 190]
1. Both A and R are true and R is the correct explanation of A

[Option ID = 757]
2. Both A and R are true and R is NOT correct explanation of A

[Option ID = 758]
3. Ais true but R is false

[Option ID = 759]
4. Ais false but R is true

[Option ID = 760]
59) As per Charak, which of the following Lakshana is not a Purva Rupa of Shotha?

TRPIGRIR 9Nl & gdau 3 forgellcs PBlel AT cIIVT o1&l URM ST 37

[Question ID = 191]
1. Ushma / 3w

[Option ID = 761]
2. Davathu / gay

[Option ID = 762]
3. Antarayam / 3ideRI&T

[Option ID = 763]
4. Sirayam / Brrms

[Option ID = 764]

60) As per Charaka “Leenampakvashayastham Vaapyamam Sravyam Sandeepanaih | Shariranugate Same Rase Langhana
Pachanam” | | is the Chikitsa Sutra of which of the following Condition ?

TRP AAIGRIR cilol UTAI9RR-Y dIRIE PR AdIuol:  IRRIGPII AT R citlel UKo, A fpaamT Rifdeea 3¢ 37

[Question ID = 192]
1. Amajeerna / smrsfiof
[Option ID = 765]

2. Atisara / 3ifeRiR
[Option ID = 766]
3. Grahani / seuft

[Option ID = 767]
4. Arsha / aief

[Option ID = 768]
61) According to Charak, how many types of Agni are responsible for causing Grahani Roga?

TRPB AAGRIR, 3Jvil A0 3 el YR 6l ifSoril AsRIB BNl 3?7
[Question ID = 193]

. Five / uia [Option ID = 769]

. Four / ar [Option ID = 770]

. Three / a1 [Option ID = 771]

. Two / @1 [Option ID = 772]

A WN =

62) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Unilateral pulsating and throbbing headache most likely indicates underlying vascular involvement. / fir & ve
3331 3 BMo1 arcnr ucAfeaT srerar Ypfder 9fet soafolfda Araerr wRUT @I gorfar 3

Reason R: Most of the time, it is migraine headache. / sa yor @1 Rr: o yri: a1sd)ar & ®RUT dar 3

In light of the above statements, choose the correct answer from the options given below:-

[Question ID = 194]
1. Both A and R are true and R is the correct explanation of A

[Option ID = 773]



2. Both A and R are true and R is the correct explanation of A

[Option ID = 774]
3. Ais true but R is false

[Option ID = 775]
4. Ais false but R is true

[Option ID = 776]
63) Kinakhara Sparsha is the specific feature of which of the following Kushtha?

forgailed ol 3 oo @1 'fpvrar Fuel’ fafdrse agror 37

[Question ID = 195]

1. Shataru / omrs
[Option ID = 777]

2. Ekakushtha / va gro
[Option ID = 778]

3. Kitibha / fpfesr

[Option ID = 779]
4. Dadru / &g,

[Option ID = 780]
64) Which of the following Jwara is Sukha Sadhya?

forrafeiRaa 3 A PBlorMr saz Jame 37

[Question ID = 197]

. Hemanta- Shishira Udbhava / as#ea fSifeRtga [Option ID = 785]
. Vasant- Sharada Udbhava / aziea 9rciga [Option ID = 786]

. Greeshma- Varsha Udbhava / sfter adiga [Option ID = 787]

. Sharada- Hemanta Udbhava / 9rg gaedlga [Option ID = 788]

A wWwN -

65) Which of the following is NOT FOUND in the clinical features of Mridbhakshanaja Pandu Roga?

"FGeIuTSI urvg 8T A fordel 3 3 BlelAl cIgIvT oISl uRM SIrar 37

[Question ID = 198]

1. Shuna gandakshikutabhruh. / gemisiférasceya
[Option ID = 789]

2. Shunapannabhi-mehanah / grureonideiset:
[Option ID = 790]

3. Malam sashrika / ey Ay

[Option ID = 791]
4. Haritam yoatisaryate / sR¥d# isfeRIRIA

[Option ID = 792]

66) According to Charaka, clinical features of Agantuka Atisara namely Bhayaja and Shokaja have a resemblance with the
clinical features of which of the following disease?

TP AATGRAR, PIoAD JIRAR SIA #1161 Ud 9libsl @ cI81ul b T @ Aol URI SIId 37
[Question ID = 199]

. Vataja Gulma / arast sjcar [Option ID = 793]

. Vataja Atisara / arast siferiz [Option ID = 794]

. Vataja Grahani / arest sgoft [Option ID = 795]

. Vataja Shula / arest gget [Option ID = 796]

A WN -

67) According to Charaka, which of the following is Anupana of Darvyadi Leha described for the treatment of Kamala and
Pandu?

TRD AR BRICI Ud uvg Rifdscar & afdfa ‘sixiifecis’ o1 sopuret a=m 3?7
[Question ID = 200]

. Madhu - Sarpi / &g - aft [Option ID = 797]

. Dugdha - Mansarasa / ggt - st [Option ID = 798]

. Madhu - Gomutra / aig - alieggg [Option ID = 799]

. Jala - Dugdha / st - ger [Option ID = 800]

A W N -

68) Given below are two statements:-



Which of the following statement is correct regarding management of Vatarakta? / amws Riftocan & 3icsf 3 fOId6lIRD wioren werer A 3?

Statement I: Raktamarg nihantyashu shakha sandhishu marutah./ et fisorny] omarifrgursa:

Statement Il: Tatra munchedasrika shringa jalaukah suchyalabubhih. / aq #=3cu® sercia: Feemgfin:

Choose the most appropriate answer from the options given below. / forFsirs el 3 21 @eifRra 3a= gor

[Question ID = 201]
1. Both statement | and Il are correct

[Option ID = 801]
2. Both statement | and Il are incorrect

[Option ID = 802]
3. Statement | is correct but statement Il is incorrect

[Option ID = 803]
4. Statement | is incorrect but statement Il is correct
[Option ID = 804]

69) Match List | with List Il according to their Chikitsa Sutra :-

fafepear g @ 3eRIR fora @1 Bieter Hifsto: -

List 1 List 11
A. Navajwara / sTdody I. Langhana / eT&l=T
B. Krisha Pramehi / 21 9¥&r I1. Vrinhana / §g0T
C. Tamak Shwasa / dH% ¥GQMH I1I. Vamana / §H<T
D. Adhoga Raktapitta / 33T TS | IV. Virechana / @¥@eT

Choose the correct answer from the options given below: / forgsirp fareul 3 2 A8 Ia= gor

[Question ID = 202]
1. A-l, B-Il, C-IV, D-1lI

[Option ID = 805]
2. A-lll, B-1I, C-IV, D-I

[Option ID = 806]
3. A-l, B-lv, C-Ill, D-1I

[Option ID = 807]
4. A-ll, B-1, C-II, D-IV

[Option ID = 808]
70) According to Charaka Samhita, which of the following Sneha is specifically indicated for ‘Bhrishta Yoni’?

RP AARIR, foraifeiRaa 3 3 Blorn Fore yvcilfor @ fere forgfora 37

[Question ID = 203]
1. Ghrita / ga

[Option ID = 809]
2. Taila / de

[Option ID = 810]
3. Vasa / @=u

[Option ID = 811]
4. Majja / ssen

[Option ID = 812]

71) According to Charaka, which of the following Sneha Matra is indicated in Jwara, Atisara and Kasa for Snehana?

RD AARRIR, frcftiRaa 3 A s, AfRIR 3k BRI & R Folsdt & Bioril argr B 3?7

[Question ID = 204]
1. Uttama Matra / 3ae smgn

[Option ID = 813]
2. Madhyam Matra / siemer aqn



[Option ID = 814]
3. Hrasva Matra / gza airen

[Option ID = 815]
4. Hrasiyasi Matra / gl amer

[Option ID = 816]

72) According to Charaka, ¢ Moorchha cha Sharira sadanam’ is Lakshana of which of the following Atiyoga?

TP AAIGRIR, fogorfcii¥ad 3 A "Feol a 9Bk col b SIRIPT I cigur 3?7

[Question ID = 205]
1. Snehana / oot

[Option ID = 817]
2. Svedana / ¥agat

[Option ID = 818]
3. Virechana / fiRdat

[Option ID = 819]
4. Niruha Basti / fores af¥a

[Option ID = 820]

73) The sequence of administration of following therapies in Amavata as per Chikitsa Sutra (Chakradutta) / smrara fifoear 3g &
3reR R fopa @t 3 fowaiferRaa w3t ot fordor fasem srm 3? (aace)

A. Deepana / dua

B. Svedana / sca

C. Snehapana / s
D. Virechana / fer
E. Basti / af¥a

[Question ID = 206]
1. A,B,C,D, E

[Option ID = 821]
2. B,A,D,CE

[Option ID = 822]
3. A,C,B,D,E

[Option ID = 823]
4. C,B,D, E, A

[Option ID = 824]
74) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R:-

Assertion A : Vamana Karma is contraindicated in ‘Sukumara’ / awer @wsf 'S’ # oiét wwon aifde

Reason R : Because it leads to ‘ Hridayapakarshana’ / wiifts serst geamuestior diar 3

Choose the most appropriate answer from the options given below:- / forFollt farcul & A JeiiiRlE@ 3= ot

[Question ID = 207]

1. Both A and R are true and R is the correct explanation of A

[Option ID = 825]
2. Both A and R are true and R is NOT correct explanation of A

[Option ID = 826]
3. Ais true but R is false

[Option ID = 827]
4. Ais false but R is true

[Option ID = 828]
75) Given below are two statements:-

Statement I: Virechana Karma is contraindicated in ‘Kshataguda’. / fieer waf grars 3 o1&l wven aifde



Statement II: Virechana Karma if given to a patient having ‘Kshataguda’ causes ‘ Atipravrutti’ / ficer @ spr grpc arer ekt 3 Rivaer
@3 oI o A sferggfer Sk

Choose the correct answer from the options given below. / forFoiies farescul 3 A &l a2 got

[Question ID = 208]

1. Both Statement | and Statement Il are true

[Option ID = 829]

2. Both Statement | and Statement Il are False
[Option ID = 830]

3. Statement | correct but Statement Il is False

[Option ID = 831]
4. Statement | is incorrect but Statement Il is true

[Option ID = 832]
76) According to Sushruta, which of the following Karma is NOT mentioned for stopping Bleeding?

9 FAGRIR, forafeiRaa 3 A Dl wal Fpeda & feru fordfora ol fpenm sk 37
[Question ID = 209]

Pachana / urder [Option ID = 833]

Dahana / gsat [Option ID = 834]

Vimlapana / fa#emuar [Option ID = 835]

. Sandhana / 3Jfemet [Option ID = 836]

A wWw N =

77) Match List | with List Il (According to Charak) / (aR®IRIR): -

List List 11
A. Gurugatrata / JGIT=AT I. Snehana Ayoga / Toigel 3T314T
B. Grathitha Purisha / &Ifarq 'fl;ﬁ“l’ Il. Vamana Ayoga / §H=T 34T
C. Mutra Sanga / FFHIT III. Virechana Ayoga / fa=iel 314197
D. Tandra / g1 IV. Niruha Basti Ayoga / foieg Sf&a 3T

Choose the correct answer from the options given below:-

[Question ID = 210]

1. A-lll, B-1V, C-II, D-1 [Option ID = 837]
2. A -1V, B-lI, C-I, D-Ill [Option ID = 838]
3. A-ll, B-1, C-IV, D-Ill [Option ID = 839]
4. A-l, B-1ll C-IV, D-Il [Option ID = 840]

78) As per Sushruta, which of the following dose is for Sneha Basti?

AYALRIR, forFsid dloril Ay FolsalRd @ e @3l sril 3?7

[Question ID = 211]
1. 1/8t of Niruha Basti dose / Rresaf3a <t e @1 1/8t ser

[Option ID = 841]
2. 1/6% of Niruha Basti dose / Rresaf3a &I sy @r 1/6t smer

[Option ID = 842]
3. 1/4t of Niruha Basti dose / Brssaf¥a & sy @1 1/4 sier

[Option ID = 843]
4. 1/16t of Niruha Basti dose / fraaf¥a & amqr @1 1/16t smer

[Option ID = 844]
79) As per Sushruta, ‘Alpa-Shofata’ is a feature of which stage of Vrana-Shofa?

JYYAIGRAR, JuIeN® &I fp sraven 3 '3rcu9ledr’ e181vT URIl SIIdr 37

[Question ID = 212]
1. Pachyamana / ucmier

[Option ID = 845]
2. Pachyamana and Pakva / ucmtel od uda

[Option ID = 846]
3. Ama and Pakva / 3m1 vd uaa

[Option ID = 847]
4. Ama and Pachyamana / 311 vd ucmiel



[Option ID = 848]
80) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R:-

Assertion A: While Suturing, needle should not be pierced very far from skin margin, nor very near to skin margin. / sfiaer wst
@2 A1, P caanr B fvom A, of A a8 53, 3R of & agd ura A dex Do AIde

Reason R: Piercing very far causes Pain, and piercing very near results in ‘cut-through’ of suture. / g3 der @20l A dist akfl 3
e 95 URA fobol} A d¢r ol A IagBad 3l Sirdr 3

Choose the most appropriate answer from the options given below / forFeirep fereul d A JeiiiRiE@ 3= got

[Question ID = 213]
1. Both A and R are correct and R is the correct explanation of A

[Option ID = 849]
2. Both A and R are correct but R is NOT the correct explanation of A

[Option ID = 850]
3. Ais correct but R is not correct

[Option ID = 851]
4. Ais not correct but R is correct

[Option ID = 852]
81) Given below are two statements:-

Statement | : Bandage should be opened on third day in Hemanta, Shishira and Vasanta Ritu. / 3, Rifdr aen serea kg & qur-sotrer
@I fiReY Ret wileren aide

Statement Il : Bandage can be opened at any time (or at once) in condition of Emergency. / sicnfiw sraven # qui-aoeret ot @i oft
(g#a) en s Adar 3

Choose the most appropriate answer from the options given below / foroirts faaeul 3 21 A IR got

[Question ID = 214]
1. Both statement | and statement Il are correct

[Option ID = 853]
2. Both statement | and statement Il are incorrect

[Option ID = 854]
3. Statement | is correct but statement Il is incorrect

[Option ID = 855]
4. Statement | is incorrect but statement Il is correct

[Option ID = 856]
82) ‘Murphy’s Triad’ is related to which of the following condition?

avicrrs fova A Asafoera 3?7

[Question ID = 215]

. Cholecystitis / @icfiRresfea [Option ID = 857]
. Appendicitis / smiestarsfer [Option ID = 858]

. Gastritis / skxgrsfext [Option ID = 859]

. Colitis / oremsfesr [Option ID = 860]

A WN -

83) As per Sushruta, Paniya-Kshara is indicated in which of the following disease? / gega sargar, uritr gz @1 swRier OIFIRD Rea et
3 fopem S 3?

A. Timira / ffir

B. Rakta Pitta / vofora
C. Udara-Roga / 352 301
D. Arsha / srof

E. Ashmari / sresrst

Choose the correct answer from the options given below / forsilts faraeul 3 ¥ 3t 3R gor

[Question ID = 216]



1. Aand B only

[Option ID = 861]
2. Aand Conly

[Option ID = 862]
3. C,DandE only

[Option ID = 863]
4. Band D only

[Option ID = 864]
84) According to Sushruta, which of the following is a ‘Nirvish Jalauka’ ?

HYTATIGRIR forgoild wloril forfdy sieiiemr’ 3?7

[Question ID = 217]
1. Samudrika / mgfegnr
[Option ID = 865]

2. Savarika / Jmafser
[Option ID = 866]
3. Karbura / @dar

[Option ID = 867]
4. Indrayudha / seggen

[Option ID = 868]
85) As per Sushruta, ’Manya-Stambh’ results due to Karna-Vedhan of which Sira?

JIYAGRIR, 3531 Ber R wuiderst &1 A AR IcUe 3 Sl 37
[Question ID = 218]

. Lohitika / ciRRrat [Option ID = 869]

. Kalika / @iferer [Option ID = 870]

. Marmarika / swits®r [Option ID = 871]

. Daivakrit / Saaa [Option ID = 872]

AW N =

86) Given below are two statements:-

Statement | : Kshara, Udaka and Taila - are the three methods of Payana. / urrmer &t dier faftri &- g2, 35 aen da
Statement Il : ‘Taila Payana’ is indicated for Mansa-Chhedan. / '&« urmen', siw@eor 3q foen star 3
Choose the most appropriate answer from the options given below / forFirte fercul & A JeiifRlE@ 3= got

[Question ID = 219]
1. Both statement | and statement Il are correct

[Option ID = 873]
2. Both statement | and statement Il are incorrect

[Option ID = 874]
3. Statement | is correct but statement Il is incorrect

[Option ID = 875]
4. Statement | is incorrect but statement Il is correct

[Option ID = 876]

87) As per Sushruta, Patient is kept nil orally before surgery in which of the following disease? / geargemz, folaollts fvar wnfer 3
Ift I el B Racie gu or+ w3 fvan sirar &2

A. Bhagandara / seroe:

B. Arsha / aref

C. Vidradhi / fagfer

D. Mukha-roga / gz 3=t

E. Kanda-bhagna / ®ws-sear

Choose the correct answer from the options given below / forFsilts faraeul 3 21 &t 3R gor

[Question ID = 220]



. Aand B only

[Option ID = 877]

. A, BandD only

[Option ID = 878]

. Eonly

[Option ID = 879]

. Cand E only

[Option ID = 880]

88) According to Sushruta, which of the following is used for Dhoopana Karma to reduce the Foul smelling Karnashrava?

HIY HAGRAR GIERITP DURYIM PH Dol B fe18 DiolRI godl A Ul v sirar 8?7
[Question ID = 221]

A W N -

Laksha / emem [Option ID = 881]
Kapittha / @fueer [Option ID = 882]
Guggulu / 3psje] [Option ID = 883]
Bilva / faea [Option ID = 884]

89) According to Sushruta, Vaktram Vakram’ (a5 a®) is the clinical feature of which dantaroga?

HYARIR, "dh.ddm. AS cISIVT PDlol] SoaRIST I URIT ST 37
[Question ID = 222]

A w N =

Bhanjanaka / sisteras [Option ID = 885]
Krimidanta / fegfdigoa [Option ID = 886]
Shyavadanta / gamragsa [Option ID = 887]
Upakusha / 3ugger [Option ID = 888]

90) “gronfdra I AYge F==nforel snfdrasn forfer ”
The above reference has been quoted for samprapti of which Nasa Roga? / 3uRitb 2igsf BioRI SIRIRIPT & wwyify A adrs a1s &7

[Question ID = 223]

1.

Kshavathu / grag
[Option ID = 889]

. Pratishyaya / yfereemr

[Option ID = 890]

. Bhranshathu / sfery

[Option ID = 891]
Nasapratinaha / smRmyfeers

[Option ID = 892]

91) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R:-

Assertion A: After the Chhedana Karma of Parvani, mixture of Madhu and Krishna Maricha is used for Pratisarana. / udbvft 3 8ot
@i & a1 AY 3 Hevrala Brar®d gferarur fRean srar 3

Reason R: After the Chhedana Karma of Parvani, mixture of Saindhava Lavana and Madhu is used for Pratisarana. / udvft i
Bcol Dl D a1c IAera aravt aen A Brema? yferarur fear srar 3

Choose the most appropriate answer from the options given below / foroiits faseul 3 2 aeifREa a2 gor

[Question ID = 224]
1.

Both A and R are correct and R is the correct explanation of A

[Option ID = 893]
Both A and R are correct but R is NOT the correct explanation of A

[Option ID = 894]

3. Ais correct but R is not correct

[Option ID = 895]

4. Ais not correct but R is correct

[Option ID = 896]

92) According to Sushruta, which doshas are vitiated in Akshipakatyaya?



YA AAGRIR, MfUIDIRRI cfer 3 wioki iul ot gfte 3idl 37
[Question ID = 225]

. Vaata Pitta / ara-foer [Option ID = 897]

. Pitta Kapha / fir1-ow [Option ID = 898]

. Tridosha / feew [Option ID = 899]

. Kapha Rakta / @w-3b [Option ID = 900]

A w N =

93) Soft contact lenses are made from which material?

JHitc Diocdc clod BloRY GRI A Follu S 37

[Question ID = 226]
1. Hydroxyl ethyl methacrylate (HEMA) / arisia=il senser denfipcic

[Option ID = 901]
2. Poly methyl methacrylate (PMMA) / uicfifdrenser drenfepeie

[Option ID = 902]
3. Plastic / wnf3co

[Option ID = 903]
4. Glass / sciry (fa)

[Option ID = 904]

94) Match List | with List Il:-

List I List 11
A Type A Tympanogramf’?lg'q T 1. Seen in ossicular fixation / Bﬂ'ﬁqﬂﬂﬂ'{ frereres & o
EaEipie S
B. Type B Tympanogram / E'Ié"T & 1. In retracted Tympanic Membrane / Ré=es fertifos
feadaame AFsT H
C. Type C Tympanogram / €89 &I 1L Flat Graph / el IR
ferdatams
D. Type As Tympanogram / 2189 TTH IV, Normal Tympanogram [ AN eFteaE
[ESaEipie

Choose the correct answer from the options given below / forFsilts faraeul 3 ¥ 3t 3R gor

[Question ID = 227]
1. A-l, B-1v, C-llI, D-II

[Option ID = 905]
2. A-ll, B-I, C-Iv, D-1lI

[Option ID = 906]
3. A-llL, B-II, C-IV, D-I

[Option ID = 907]
4. A-Iv, B-lll, C-II, D-I

[Option ID = 908]

95) BcAcaHsar)u RKresiaits q ¥ ||

The above reference has been mentioned in context of which talugata roga? / 3uzlwb igsi wierRI darcRIer d aftfa 3?7

[Question ID = 228]
1. Upajihvha / 3ufSmer

[Option ID = 909]
2. Galashundika / swergjfdsat

[Option ID = 910]
3. Kanthashalooka / ®vsercm

[Option ID = 911]
4. Kachchhapa / @su

[Option ID = 912]
96) Arrange the process of Research. / swiemt ugh @ agag o3
A. Selecting Sample / siua o1 @

B. Data analysis / srr wonfafirr
C. Formation of research question / swyziemor gest foraifor



D. Data collection / st ziwsersr
E. Conceptualizing design / fsisar &t siweuan

Choose the correct answer from the options given below / forFoirs fareseal 3 1 Al = gor

[Question ID = 229]

1. C,E D, B, A

[Option ID = 913]
2. C,E,AD,B

[Option ID = 914]
3. C,AE,D,B

[Option ID = 915]
4. A,C,E,D,B

[Option ID = 916]
97) Given below are two statements:-

Statement | : Chi square test is a non-parametric test. / ‘o~ sa&r' 23 v o-urRP® e 3

Statement Il : As a test of goodness to fit, Chi squared test enables us to see how well does the assumed distribution fit the
theoretical data. / @ Fad=R ¢¥c '3[sor ¢ fibe’ 4l A6 Silolol 3 A6 Dl 3 Dl AT SR BRceyorE, sinfewea R¥degeret A foder s
afid> A fBrcrar 3

Choose the most appropriate answer from the options given below / 'ors vadmr' 23¢ vw sha-ur@ide 23< 3

[Question ID = 230]
1. Both statement | and statement Il are correct

[Option ID = 917]
2. Both statement | and statement Il are incorrect

[Option ID = 918]
3. Statement | is correct but statement Il is incorrect

[Option ID = 919]
4. Statement | is incorrect but statement Il is correct

[Option ID = 920]

98) Given below are two statements:-

Statement | : Cross sectional studies are known as one shot or status studies. / @ Jaemia 3t ®) v & ar ar Fefed gofa v s ¥

Statement Il : Longitudinal studies are also useful when you need to collect factual information on a continuing basis.
[ aipficzf¥srer we&t SuzE it 3 STa Bagarer sowRdArT Sk ARl aw s ol 3

Choose the most appropriate answer from the options given below: / forilt feraeul 3 21 a2l 3= gol

[Question ID = 231]
1. Both statement | and statement Il are correct

[Option ID = 921]
2. Both statement | and statement Il are incorrect

[Option ID = 922]
3. Statement | is correct but statement Il is incorrect

[Option ID = 923]
4. Statement | is incorrect but statement Il is correct

[Option ID = 924]

99) Given below are two statements:-

Statement | : Test of significance is used to test hypothesis in quantitative studies. / qartfRa & 3 srMiARm 1 e T B R 2w
i Rissiifbaa Suged 3

Statement Il : Hypothesis testing is dependent on theory of probability. / srrhafr 20t @ GRfARE SR vz amenfya 3



Choose the most appropriate answer from the options given below: / foreilts feraeul 3 A el 3= got

[Question ID = 232]
1. Both statement | and statement Il are correct

[Option ID = 925]
2. Both statement | and statement Il are incorrect

[Option ID = 926]
3. Statement | is correct but statement Il is incorrect

[Option ID = 927]
4. Statement | is incorrect but statement Il is correct

[Option ID = 928]
100) Which Acharya has mentioned Vipluta Yonivyapada?

farcggen Aifercarus o aviel o=t 3imari of fdpar 37
[Question ID = 233]

Charak / @2a [Option ID = 929]

Sushruta / Jga [Option ID = 930]

Vagbhatta / awsre [Option ID = 931]

Kashyapa / @ [Option ID = 932]

A wWw N -

101) Acharya charak has indicated Katukadi Ghrita for management of which of the following condition?

SIFIRE TR of wepIfe ga @I YIsI forgsirep fapardl frfdoean 3 garm 3?7

[Question ID = 234]
1. Paripluta yonivyapada / uf¥tgjar :iiforeamue

[Option ID = 933]
2. Shleshmala yonivyapada / e5wict =iforeiue

[Option ID = 934]
3. Raktapradara / ¥pyce

[Option ID = 935]
4. Yonikanda / =ferpg

[Option ID = 936]
102) According to Acharya charak, how much Angula long pushpa netra should be used for giving uttarabasti in females?

Iaraf¥a 3q Rl @ fere gRiter b Sirel arct gouolq 6l diard iRl aRe AdreRIR ool sy aXdl 3?7

[Question ID = 235]
1. 10

[Option ID = 937]
2. 12

[Option ID = 938]
3. 8

[Option ID = 939]
4. 11

[Option ID = 940]

103) Match List | with List lI:-

List I List II
(Artava Dushti) (Involved Dosha)
A. Granthibhoota / uﬁ'ﬂiﬂ' 1. Sannipataja / HieauTdsT
B. Pootipooya / Iicqar 1. Vata-Pitta / ara-Toe
C. Ksheena / &fror [11. Kapha-Vata / S%-aTd
D. Mutra Purisha Gandhi / HF-GI 7t | 1V. Kapha-Pitta / &%-f

Choose the correct answer from the options given below / forgsirep farpeal 3 A Adl 0= gor

[Question ID = 236]
1. A-ll, B-I, C-IV, D-1ll



[Option ID = 941]
2. A-1, B-lll, C-1V, D-lI

[Option ID = 942]
3. A-lV, B-l, C-lI, D-1lI

[Option ID = 943]
4. A-lll, B-1V, C-II, D-I

[Option ID = 944]

104) One end of round ligament is attached to uterine cornue and the other end is attached to which of the following
structure?

35S fePIEIoe BT U BIR SIi9RT @ IUSt P @ AT JSAT 3 Td GIRI BR pAd AT J3e1 3 ?

[Question ID = 237]
1. Supravaginal part of cervix / fdar @1 JursiESore B2

[Option ID = 945]
2. Vertebral column / adqret @remt

[Option ID = 946]
3. Fallopian tube / weliftrrer coa

[Option ID = 947]
4. anterior third of labia majora / ciféri #SiRT 1 361 @1 Gefler Bz

[Option ID = 948]

105) According to Astanga Hridaya, what is the correct sequence of Regimen for Asanna Parasava Paricharya? / smarf apsz (st
§. DR) 3IRAR 3iR¥ool Yar ufkarif DI A3t BH T=T 3 ?

A. Abhyanga-Mardana / sweier-aidor

B. Jrimbhana-Chankramana / sssrei-ciaysror

C. Ushna Jala Snana / swur sier vomer

D. Peya with Ghrita for Pana / ga-gm e @1 ure

E. Uttana Shayana with Sakthi flexed (Lying in lithotomy position) / afxer sits @2 sarwer orer

Choose the correct answer from the options given below: / foreirs faaeal 3 2 A8 3= gor

[Question ID = 238]
1. B,E, D, A, C

[Option ID = 949]
2. E,D,B,C, A

[Option ID = 950]
3. C,AD,B,E

[Option ID = 951]
4. C,D,E, A B

[Option ID = 952]
106) Acharya Charak has indicated which formulation for the females who suffer from miscarriages and desire conception?

Sil e sreferur el arsddl 3, fipog ORI aR-4R sniya 3l ST 3, oid fo1u ARl are of @RI adrm 37

[Question ID = 239]
1. Triphala Modaka / fewen aiigs

[Option ID = 953]
2. Abhaya Modaka / sprm #igas

[Option ID = 954]
3. Pancham Sarpi Modaka / dae 3iftf siicas

[Option ID = 955]
4. Tritiya Sarpi Guda / gt aftf o5

[Option ID = 956]

107) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R:-

Assertion A: Navneeta is indicated to be given to a pregnant woman in the fourth month of pregnancy./ sififoft =5t @ agef arer &
oIdoild T Adol AR SR &



Reason R: Pregnant woman is Dauhridini in fourth month and fresh Navneeta is Hridya. / agef s 3 =t Sigloft 8kt 3 v oraofiar goa &
fere Rawm: arar 3

Choose the most appropriate answer from the options given below: / forsilts faraseul 3 A el a2 got

[Question ID = 241]
1. Both A and R are correct and R is the correct explanation of A

[Option ID = 961]

2. Both A and R are correct but R is NOT the correct explanation of A
[Option ID = 962]

3. Ais correct but R is not correct

[Option ID = 963]
4. Ais not correct but R is correct

[Option ID = 964]
108) According to Ashtangahridaya, Moordhini Taila is advised in which of the following Ritu?

3recisl g AATRIR Ff2ifor der fogoiep 3 A dlal 2l 55q 3 foifdee 37
[Question ID = 242]

Hemanta / &sea [Option ID = 965]

Vasanta / @ziea [Option ID = 966]

Varsha / auf [Option ID = 967]

Sharada / 9rg [Option ID = 968]

A wWw N =

109) According to Ashtangahridaya, which of the following Ambu is advised in Vasanta Ritu for drinking?

31631 FSAGRAR, fo1aoilth Jf 3 Blol AT 319g Ulel aod >Bq 3 ufdte 37

[Question ID = 243]
1. Ushnambu / Swumag

[Option ID = 969]
2. Marichambu / aif¥awpg

[Option ID = 970]
3. Shringverambu / gy

[Option ID = 971]
4. Chandanambu / dgosg

[Option ID = 972]

110) Match List | with List Il according to Ashtanga Hridaya (sreciereca @ 3GIRIR)

List 1 List I1
(Ambu Pana) / (31 HT1) (Prabhava) / (981
A. Bhukta Madhya / aga\-—mw I. Krisha / 3T
B. Bhuktante / $JFcllecl II. Sama / §H
C. Bhukte Prathama / W T | 111 Shrama / S
D. Sheetambu / g IV. Sthoola / TYeT

Choose the correct answer from the options given below / forFsilp faeal 3 1 8l 3= 9ot

[Question ID = 244]
1. A-lll, B-1v, C-IlI, D-I

[Option ID = 973]
2. A-ll, B-1V, C-I, D-llI

[Option ID = 974]
3. A-IV, B-lll, C-Il, D-I

[Option ID = 975]
4. A-l, B-Il, C-lll, D-IV
[Option ID = 976]

111) “Nihsukhatvam Sukhaya Cha” is the principle of treatment for which of the following?

for: Jzacd g a” foarfeilRaa 3 A vt Rifdsen Rigea 3?7



[Question ID = 245]
1. Vata / i

[Option ID = 977]
2. Pitta / faa

[Option ID = 978]
3. Kapha / ow

[Option ID = 979]
4. Sannipata / fsomra

[Option ID = 980]
112) According to Ashtangahridaya, which of the following is having Vatanulomana effect?

3I6¢idT GSRIGRAR, fordolled 31 A fperT BRI arrocidret 3?7

[Question ID = 246]
1. Manda / sws

[Option ID = 981]
2. Peya / i

[Option ID = 982]
3. Vilepi / fendt

[Option ID = 983]
4. Odana / siigot

[Option ID = 984]
113) Which of the following is an example of ‘Madhyama Padalopi’ (srezmt ugeintt) Samasa?
forgoiferRaa 3 3 Dol AT 'HALPIUGAIU' JHART DI I 37

[Question ID = 247]
1. Devabrahmana / gagremon

[Option ID = 985]
2. Vyaghri / =nfg

[Option ID = 986]
3. Gyanapradanam / SieYgrote

[Option ID = 987]
4. Panaukritya / umiidgen

[Option ID = 988]
114) What is the Bahuvachan Rupa of gy Dhatu Lot Lakare Uttama Purusha?
91 €I P clic TP I YW dgadiol U AT 3?7

[Question ID = 248]
1. srarfor

[Option ID = 989]
2. o@m:

[Option ID = 990]
3. e@ra:

[Option ID = 991]
4. sams

[Option ID = 992]

115) Match List | with List Il

List | List Il

A. Arkadi gana /3mpife stot I. Shukradoshahara /gagIus=

B. Virtarvadi gana /dizazaife sror  |Il. Kaphamedo vishoshana /@waicifaeiiel

C.Shalasaradi gana /emerRirife st |lll. Ashmari sharkarahara /sesrdtorasrs:

D. Mushkakadi gana /gzomife B‘Iﬂl]lv. Vrana shodhana /qureiieret




Choose the correct answer from the options given below :

[Question ID = 617]
1. A-III, B-1I, C-1, D-IV

[Option ID = 2465]
2. A-I, B-II, C-III, D-IV

[Option ID = 2466]
3. A-II, B-III, C-1V, D-I

[Option ID = 2467]
4. A-1V, B-III, C-1I, D-I

[Option ID = 2468]

116) Match List | with List Il

List | List Il
(Author) (Rasagrantha)
IA. Acharya Govindapada /smarf siifdocurc |. Rasatarangini /=SSt

B.Acharya Govind Das Sen /smramrt siiféeecrt A6ill. Ayurveda Prakasha /3mgds geprer

C. Sadananda Sharma /¥creic ot

Ill. Rasa Hridaya Tantra /*1ggadodg

D. Acharya Madhav /smrart smera

IV. Bhaishajya Ratnavali /$tasa scommacty

Choose the correct answer from the options given below:

[Question ID = 618]

1. (A)-(ln), (B)-(1), (C)-(IV), (D)-(I)

[Option ID = 2469]

2. (A)-(1), (B)-(Iv), (C)-(h, (D)-(1N)

[Option ID = 2470]

3. (A)-(1), (B)-(1), (C)-(1), (D)-(IV)

[Option ID = 2471]

4. (A)-(Im), (B)-(I), (C)-(1), (D)-(IV)

[Option ID = 2472]

117) Match List | with List Il :

List |

List Il

(A) Bastau Hrit Prashwa Prishtheshu Sashoolah /ardiecurdysdya1glet: (1) Kapha Paitikah /@owtifie:
(B) Kukshau Hrinnabhi Madhyeshu Sahoolah /agitesenfimedgzigrer:  ((Il) Kapha Vatikah /owarferes:
(C) Daha Jwarakaro Ghoro /cresaza=Ry

(D) Bhukte jeeryati yat Shoolam /gebstiziferrcect

(Ill) Parinamajam /ufvierste;

(V) Vata Paitikah /aradfra:

Choose the correct answer from the option givens below :

[Question ID = 619]
1. A-II, B-III, C-1,D - IV

[Option ID = 2473]
2. A-II, B-I, C- IV, D - III

[Option ID = 2474]
3. A-III, B-II, C- IV, D - I

[Option ID = 2475]
4. A-1I, B-1V, C-III, D - I

[Option ID = 2476]

118) In reference to Balagraha described by Ashtangahridaya, match the following table:

JrecrgeTecd afvfa drcels @ Jcs A Tl Siis o3

Match List I with List II.

List |

List Il



(Balagraha) /(SICIoB) (Features) /(<I8I0T)

IA. Skanda graha /¥w@og s I. Eka netra shopha /ewaqgens

B. Skandapasmara graha /3@ogIu IR 36 Il. Chakshurnimilanam /aggfofafierorag

C. Naigamesha graha /sieraie 36 Ill. Sanraktobhaya lochanam /zmﬁsraf«haa?{
D. Swa graha /o1 IV. Urdhweksha /3eder

Choose the correct answer from the options given below :

forgsirep ferpeul 3 A Adl Ia= got

[Question ID = 620]
1. (A)-(I), (B)-(IV), (C)-(1), (D)-(HI)

[Option ID = 2477]
2. (A)-(h, (B)-(ll), (C)-(I), (D)-(IV)

[Option ID = 2478]
3. (A)-(ln), (B)-(1V), (C)-(1), (D)-(I)

[Option ID = 2479]
4. (A)-(lln), (B)-(h, (C)-(1V), (D)-(1)

[Option ID = 2480]

119) According to Charaka, which Kashaya is specifically advised in different types of Jvara?

WAAIGTAR, BioTATl DURI 53 YR & saz 3 fady wu A garm srm 3?

Match List I with List II:

List |

List Il

(Kashaya)

(Jwara)

A. Nimba, Patola, Triphala, Mridwika, Musta, Vatsaka / forge, ucle, fewen, il Frar, arm

|. Santata /daa

B. Patola, Sariva, Musta, Patha, Katukarohini /ucier, onf¥ar, =i, urcr, wgwAf3vl

Il. Anyedyushka /3rce[ss|

C. Guduchi, Amala, Musta /315, smere, Jgzar

lll. Triteeyaka / geilras

D. Kiratatikta, Amrita, Chandana, Vishwabheshaja /fpzrafers, smpdar, docol, faeasiost

IV. Chaturthaka /aqgefe

Choose the correct answer from the options given below :

forgsirep ferpeul 3 A Adl Ia= gol

[Question ID = 621]
1. (A)-(1, (B)-(1N), (C)-(1), (D)-(IV)

[Option ID = 2481]
2. (A)-(1), (B)-(I), (C)-(IV), (D)-(I1)

[Option ID = 2482]
3. (A)-(1), (B)-(IV), (C)-(I1), (D)-(lI)

[Option ID = 2483]
4. (A)-(IV), (B)-(1l), (C)-(11), (D)-(1)

[Option ID = 2484]

120) Match List | with List Il
According to Yoni Vyapada match the Garbhashaya Mukha Dushti.
Aiforearue @ oA Alfor/smiferRT g gftc @I fdreiror ®3: -
List | List Il

(Yoni Vyapada) (Garbhashaya Mukha Dushti)

A. Antarmukhi /seagzll I Shosha /onw

B. Suchimukhi /zrdigr=it |l Vakra /ag

C. Shushka /ggsmr lll. Vishtambha /ferseasn

D. Mahayoni /srsrifor IV. Samvritta /+ga




Choose the correct answer from the options given below:

forgoilep faraseal 3 A A8 IR gor

[Question ID = 622]
1. (A)-(1V), (B)-(I), (C)-(1), (D)-(I)

[Option ID = 2485]
2. (A)-(I), (B)-(1V), (C)-(1), (D)-(II)

[Option ID = 2486]
3. (A)-(), (B)-(I), (C)-(IV), (D)-(11)

[Option ID = 2487]
4. (A)-(I), (B)-(IV), (C)-(1), (D)-(I1)

[Option ID = 2488]





